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21— K it 4 Stk Pk (kg) G () i i S PE i (HfiL)
30300 A% 12 1,102 108 76 76 BN 12kg
31100 1F% 30 648 432 432 216 BN 25—
Y3015 |7 4 H 5 405 32 16 16 BM TR
31700 (¥ ¢~ 135 7,279 756 756 173 BN 4r—%
31800 |FEHHLAE 40 9, 757 54 54 29 &M 2005
31950 HAE 486 97 97 97 BN 53
31900 fAX 2, 830 378 324 324 BN 8kg
36800 |oF & 9 . 2,673 994 594 594 B Skg |
34400 | k=~ k 35 10, 206 292 292 292 BN 35kg
34460 |I =& F L 1 605 140 86 86 kN Ry
34200 /I 30 2,052 76 65 65 B 30kg
35220 X XROHET 15 8, 186 594 540 432 BN 15kg
35300 | E'— X 4 2,376 648 648 540 &M kg
35303 A F v T EIALED 9 1,749 216 216 119 B 9kg «
Y3115 ExAEH 4 421 108 108 108 &N 4kg
35400 F 5 E 1 178 162 162 162 &M lkg
Y3033 2L 50 1, 080 22 22 22 BN 50kg
Y3034 K Z 3 90 1,944 22 22 22| BN 90kg
36260 2 Lwp7=pn 200 13,176 864 648 648 | BN 20 —A
37200 (L k95 6 1,026 216 162 162 57 6kg
33200 HY T T U— 9 1,652, 119 86 76 BN 1718
33300 Y myay— 3 194 76 76 54 BN 3kg
33300 (T myay— 1 3499, 97 97 65 A 38fH
Y3017 ([t Y 2 2,592 1,296 1,296 1,296 M 2kg
Y3030 PEAEAE (%) 6, 372 1,728 1,728 1,458 &M 4kg
36340 | L <R HAE 24 2, 300 108 108 6/ BN 24kg
41806 7= /A 276 41, 958 648 270 270 BN 93% v |k
46108 | EANIEDONHE 69 72,943 356 281 281 B 2313y 7
71011 A7 L —3 49, 610 66 55 50 BN 8T0K
71030 K7 t&F 2,618 44 33 29 &M 804
71032 | K7 &5 () 880 44 44 44 BN 204
71161 |4 (i) 6, 384 33 24 12 BN 310K v k
21203 (U T A 3, 300 550 550 550 BN 65k
71286 ' o—7 3, 740 99 99 88 N 404
21311 %I V7 1,947 363 363 286 BN 65k
53456 (7= ARlE 540 108 108 108 B 5kg
Y3019 [#H Db 3,564 2,376 2,376 2,376 BN 2kg :
30100 {722 A 3L 75 1,836 54 32 32 BERE 50
30300 | A% ' 80 8,532 1,080 1,080 972 HEUE 5 84—
30300 | A L 50 5, 400 1,080 1,080 1,080 HEVLE; 54— A
30400  ZIEH 10 1,782 54 54 54 AR B/
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= i S P (kg) R ) i i i P Hi (HLT)
30400  ZIF 5 L 20 3,888 1,944 1,944 1,944 HH 24— 2
31100 [ L 60 4, 104 1,080 972 972 IR 47— A
33500 47 &3 L L B SLC2 - 1 SN &1 B © 251 O R V"
33703 |G 2. 1,080, 1,080, 1,080 1,080 #&M  14/—x
33810 | FHEE 12 4,212 1,404 1,404 1,404 FER 3r—=a
33810 | FHESE L 8 3,240 86 86 76 @RE 404
37440 M vbi 2 896 896 896 896 FE L5 1r—=
Y5005 447Kk AN 1, 566 1,566 1, 566 1, 566 K4y 17— %
31700 | v~y 9 7,020 864 756 756 HE Lk 94— =
31800 ¥ ) ALAKE 4 1,080 54 54 b4 VLR 20%%
31950 [[Hhx 33 7,722 756 756 594 JE IR 5 114 — %
31900 h X S 9 4,018 324 173 173 BEVAE, 187 (500g)
34300 | 7o 2L 10 54000 2,700 2,700 2,700 REA 24— A
34400 |k~ k 16 3, 888 972 972 972 REA 4=
34400 |k k 20 5,033 1,296 918 864 JE IR 5 54— 2
34400 b= b M 12 5, 832 1, 944 1,944 1,944 FEV R 3 —A
34460 X =Lt F & 1 562 43 43 43 RS 134§
34100 HK 2L 20 7,344 1,836 1,836 1,836 FEI/S 44— 2
34100 I L 15 5, 508 1, 836 1, 836 1,836 FEVLE 3r—A
36600 7o 100 9,612 2,160 2,052 1,296 dbiffiEE 54—
36600 7= %X M 60 4,53 756 756 756 LiEE 6 —2
36600 /- FhX LK 100 12,960 2,592 2,502 2592 dLEE 54 —=
33420 (/Y —rY—T L &% L 3 1,620 1,620 1,620 1,620 @ 14— =
33600 /3t , 1 648 162 162 162 448
33300 Tmyay— 8 767 54 22 22 Ry 281
TR — T T R - e
38100 4 L\ \i=if : 8 3,451 65 36 36 M 75,8y 7
31310 | A3 5 1, 890 76 76 76 fEH 254%
31500 /MAEE 20 8, 640 1,728 1,728 1,728 VR 55— A
31500 /IMARE 12| 5, 400 97, 97 76 FEVL R 60%%
32500 | HolE 2| 1,134 65 59 43 ta i 203
37560 | F3H51F 1 3,240 324 324 324 K% 108w
36400 (72750 c 2L 20 5184 2,700 2,700 2481 H& | or—=x
38400 |z X H 5 2,052 2,052 2,052 2,052 Bl 14— =
38521 |57 L L 3 3,402 113 13 113 fE 3048
38604 |V v XE 6 8156 103 103 103 fliy 60%%
41480 | L & 0h B 30 2, 268 378 378 378 VLB 6% v k
Y4004 4T —7 A 30 2,074 356 356 324 IR, 6% v k
Y4005 AL 15 1,944, 1,944 1,944 1,944 T AU 1H—2
42850 | FHkY AT 10 4,968 4,968 4,968 4,968 FHik 14— %
Y4017 425 50 6,750 1,620 1,404 918 K¥f 54— 2
Y4041 (Z A —Am 12 799 108 22 22 fEA 1318
49300 F 7 4 T — 5 3,240 3,240 3,240 3,240 {&/H 14— R
At 2,156 459, 680 | |
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